[ A AGH

[ & X ]

fEERSAV FKEYV R
FE19E RATS5D HhYTAQ]

OS5 DE Y FiimE
@S+ OBV HOFFE I E
%% RE] 64 L T74

Britide KL OMEMRE 22 R BL - FRELIIHFIT /20,

[1] #HHEomMESHE#R L. FETEEMD,

A LFEILEEE — LR SBS-> TWAEFROMO—D0E S %Rk 5[
MEf, EEEROER - ORFROUORS) OHABEEITT 5,

R ESBTEDLT, (B8 + (D) LRICHETHETXLZ I L2H X
b, FHOIT MHEHENBTRD LT 5IERETDHHEEFZATVDLN, Bl
TWAEWTRWDT, HRONLEZDFRE,

[2] B HBOFEIBEIEN D,

B SBUTETERICER S, B SBROESEICERL S D,

(3] #HROFEIENL LD

- BURRRTES I35 2 ST, GRS TEE- 28O EZ L TR D,

- ZORMBTHLRD L TEIAET L EALG THDL Z LITEOE D,

[4] M HHOFNFEIIENL DO

B SBOFREIERSE D,

< B 2R Wl la, B (N) ICHELTE22EL 22825,

107




19| AT 9D ) TAL O

BRHBOMESH AR L, SHRETEzmD,

2
3

7= T

m. HAEEID 5m?D 6 x 9135 [Ty

HYEFT, L2213 LAMTTH,

2

3

5]
Lo TE I,

1) LEs

L

5
5@—T—Z b U TLEM,

5
5% — |IC

7:1\\

H LT

(FwWwoen% LTATLLI.)

Lz DWW TALTL L),

108

Nt
TWIATET T 1,




B HBOESEICEL D,

mod Hx )ld ) (T

BAEES 6m2, 2 TH

___________________________ ?m e
5 5
- ' 6 m
(bAEZ) = (=2T) = (L 2)
6 o 2 =
: 7
6% NATIHIIC WBLEL LI, \
SAE (LE) & 1ICTniE Lo T L £,
6
6 =7 —
? 1 =
6 . 5 B 6 X 7
1 "/ 1 X 5
@
6 5 7
® 6 - ® = - X ©) -

1

SAT (L) 131, 1 X2, UK Z2 LT,

109




B HBOFFEICENL SO

OFD ITWIAZ LFEFL LI,
n 5 - 7 - . 7
Q 1 ?
B X
1 X
S 8
2 6+ —/— = — i
3 1 3
X %
1 X —

6t8¢% 2 Thn% ¥,
6+2=3
8+-2=4

110



B HBOFFEICENL SO

SOFD IFTWIALEZ LETL I

5 15 -9 - 0 . 10
'/ 1 '/
X
- X
2 | 2
X
X

SALE (LE) V1T,
VN A b

111






